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[All questions are compulsory. Every question is written first in English and then in Bengali. Answer (Ans:) is

written there after where you have to write the answer. Calculator is not allowed.]
[Calculation sheets supplied by the centre must be attached with this answer paper/

GROUP-A -
12x2=24
[Each question has four answers of which one is correct. UNDERLINE the correct answer. 1/2 mark will be
deducted for each wrong marking. Cancellation or over writing is not allowed]

1. The ratio of 10 m to 1 km is
10 fiz @ 1 ffRe 93 SRels 2ot —

a) 1:10 . b) 10:1- - ¢) 1:100 d) 100:1
2 A point whose y - coordinate is zero and x-coordinateis 7 willlieon =~ = .
D Ry T 0 % x T 7 0 o g 2 — s . s
a) y-axis (yo=®) - b) x=axis (x 5% ) e e f-
o origin (@) d) None of these (QGTeAR (PR )
3. If a number is doubled, then its cubeincreases by :
3% AT fawe Tl 70eT, 229 9 @ i@ T — '
a) 2 times (2 ©9) b) 4 times (4 ©9) c) 8times (8 @) d) 9times (9 @)

4. A bag marked at Rs. 80 is sold for Rs. 68. The rate of discount is
80 Breet TR GG ol 68 Bree T w1 2eet aifbre wiTes 2w 20 — :
a) 12% b) 15% CQ1715% d) 20%
5. The compound interest on Rs. 30,000 at 7% p.a is Rs. 4,347. The period in yearsis
A 7% 2 30,000 BIPR S I3 4,347 B1<el Qe Fricefar Fampled (I=0e) T —

SR e hias ¢) 3 : B4
6. . The ratio of the:area of a square tothat of the’ square drawn on‘its’ dlagonal is: g5t
'Waﬁwwwmaﬁa@m%a%wwﬁm—, ' A
ay1:1 : e ¢)1:3 : d)l4
7 ‘If-m’ =3 then m_;j(__m_” is : '
’Iﬁm’=3m,wﬂﬁﬁ @ T -
a) 7 b) 3 c) 81 d). 28

8. POR is a triangle, right angled at P. If PQ =15 em and QR =17 cm, then PR (in cm ) equal to

PQR fagrer P e et 2t PQ = 15 (ifih <= QR = 17 (iffl 28 WIREAT PR I (GfR-C9) 7 — ;-

a) 8.2 B) 9 suEamm s T R v :
9. If2a—3=5and3b+1=2,then3b-2ais i g

P 2a—3=59R3b+ | =2 T, O 3b — 2a 97 I —

s b) =7 e D79 |
10. If vX = Va41=0.02 then the value of x is : $ =

VX =+ VAAT = 0.02 Z0E x 97 T — ;
a) 1.764 : b) 0.1764 c) 1.64




11.

12.

13.

14.

15.

16.

17.

18.

19..

20.

21.

 Find the area of the pond. | pond

‘Ans:

If P=— 2,q=5and r=3, Then M is
Par

pq +qr

o — i =

IMP=— 2,q=593Rr=3 34, OA

5 5
a}g b)—g

The pencil given in the figure is a combination of
fore 2 o AMvm e A erete e —

- a)cylinderand cone ((B18€=F)  b) cylinderand sphere (516 CaieTr)

c) sphere and cone (CNEFFS*F) S *d) cone and cuboid (*1F & SwH=)

[Write the answer only at the proper place]

12x2=24
Find the value of m for which 5™ =+ 53=5%

57+ 5% =5 70e m @A I 3 0 |
Ans:

If 3x + 5y =11 and xy = 2, find the value of 9x?+ 25y?
3x + 5y = 11 &% xy = 2 Z0T 9x2 + 25y? I T (I A |

Ans:

Find the valueof P and Q. PQ

PeQu@um eIl L

a QQQ
Ans: :

Thereis a pond inside a garden shown in the adjacent figure.

T (W) 'ﬁ‘ 14m

AAica BfHTe 9w A1sitar foeta «al 3= Teas |
i [m

Ans: : —— m———>

Fa torise; 4x2—49 | :
BT RO AL 8 42— 49

Ans:

: Ina _pa.r'allé_logram.-PQRS;..éR ;=.-_.(3.J_i,'j;-l-_-.1-_5)“,_an‘__d:.té_.S = (2x+5)"% Find x.

PQRS TR LR = (x+15)" @RLS= (2x45)° | x FITEATA

Ans:

Inthe adjacent figure, What is the value of x +y?
AR B x + y GF M TS 2 =

"The difference between a number and its three -fifth is 50. What is the number ?

&% 741 @ O o7 A% @7 T 50 Z0= MRYIG T92
Ans: i

Which number comesnext ?

S AR T2
1:3:6.-10,°15, 7

Ans:




12

23,

24,

25,

Fmd the cube of |/— 20
5 s Bt

|_'___ % ) 97T caq el

Ans:

A bucketand a mug are both cyl'mdrica.l in shape. If the height of the bucket is 35 cm and diameter of
base'is 30 cm and the height of the mug is 15 cm and the raclms of its base is 5 cm, how many mugs of
water will fill the bucket completely ?

b 1S @ ol Wl IR | fi Afem Tl 35 C‘Hﬁ@gﬁa‘dﬂﬁ 30 mﬁm\wﬁaﬁm 15 Gif
e ofim masmﬁwwam%%wmvﬁmmwwmm? '

. Ans:

©

e A\ @
Find the missing number in the given number pattern. - v v
o7E AR YA (A S AR @ F : | |

' O
Ans: @ .
GROUP - C

3x4=12
Ilmportant steps oi‘ calculatlon. Statements and proof wherever necessary are to be given]

i

The performance ofa chess player fur two years is given.

Year | Wins | Losses |
(=) | (@) |CEER)
S |2016 | 10| 4 -
GG RIRAIGA YR TR ARAIIT (e Z0Al | (P FRER e s el ¢ (S e a6

In which year was the record better?

Ans:




Ifc(ax+by—cz)=b(ax-—by+cz)=a(—ax+by+cz)=2,

then find the value of 23Xt by +cz
ab+be+ca

. A c@ax+by-cz)=b (ax—by+cz)=a(—ax+by+cz)=2 7,

. ax+by+cz [ g
IR b ho ¥ ca AP ER I

- et T
At

fﬁ?ﬁbﬁs@:aqﬁ_@ré;fx’andﬁf'_.are.ihé-m-id points of AB and BC respectively,
Prove that L ADX = £ BAY. :
/ABCD 6 291070 @3¢ X, Y TECH AB ¢ BC 3 7411 | 29 031 LADX = 4BAY

Ans:




